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General Instructions : ~
(i) All questions are compulsory.

(ii))  Question numbers 1 to 10 are of one mark each. The answers to these questions
should not exceed 20 words each. '

(iii) Question numbers 11 to 20 are of two marks each. The answers to these questions
should not exceed 40 words each.

(iv) Question numbers 21 to 30 are of four marks each. The answers to these questions
should not exceed 100 words each.

(v)  Question numbers 31 to 35 are of six marks each. The answers to these questions
should not exceed 150 words each.

(vi) Question number 35 is based on Map. Write the answer in your Answer-Book.

1., 2006 T TS T o T 901 6l WA feperT ot 2 1
How many member-states did the United Nations have till 2006 ?

TS QIS ST 6t Ruie o1 SR 30m &n 2 1

What was the basis of the report of the States Reorganisation Commission ?
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In which year did the Congress Party win 415 seats in the Lok Sabha ? Who became
the Prime Minster then ? ‘
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(i) & SO, 59 fHaE

(i) TR geren

Name the leaders who gave the following slogans :
(i) Jai Jawan, Jai Kisan

(i1) Garibi Hatao

5, it HASH & g W 1974 Tt 1679 §SaATA % SR, ToTd HHATET i & AT T &t 2 1

What was the main demand of the »railway men during the railway strike led by
George Fernandes in 1974 ?
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6. el fordel SHRIe o o1 2 1

- What was the Anti-Arrack Movement ?
[T A CAMN f

o 1 1
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Mention any two incidents of violence against the minority community which are a
threat to democracy ?
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Fill in the blanks with appropriate words :

First Gulf War was fought against in which troops from
countries fought.

9. ‘gEE wamaio 1

- What does the word ‘hegemony’ imply ?

10. ﬁr:{%n’@awﬁaﬁmgqﬁﬁ@q

™ |

TRT T G AT 3 NS ST TR S T FRI <A it o o o it €1
Correct the following statement and rewrite :

Eight temporary members of the U.N. Security Council are elected by the General
Assembly for a period of three years.

11, g Fe & STRE SR “SRe STERATE A 4 o 7 2

What was the ‘Operation Infinite Reach’ ordered by President Clinton ?

12, ATEET & T 2 Wil o S SR S | . 2x1=2

Highlight any two cultural consequences of globalisation.
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13, T & QU 9%, SRA & THeT 377E a1 |t gAifaa! o 3o HiT | 2x1=2
Mention any two challenges that India faced just after Independence.

14, 3 & Fnfcarst feit ®, S ome | enfeanfaal o vateruifast & v v & =
g9 2
What were the fears -of tribal population of Orissa and environmentalists about
setting up industries in the tribal districts ?

?\ 1))
/Wmﬁwvﬂmaﬁrmﬁﬁmﬁﬁmﬁﬁﬁn%? 1+1=2
When and why was the Communist Party of India (CPI) divided into two factions ?

- K ¥
16. W@mmmﬁ%mwmqﬁmﬁmmwwm 3
3 el a8 e T | 4x3=2
List any four activities conducted by Bharatiya Kisan Union to pressurize the state
for accepting its demands.
17. S 37iKier SR B | o oy o6 S € 2 7% 51 A Tl S 48?2 1+1=2
' Which groups are mobilized by popular movements ? What are Lthe methods used by
these movements ?
18.,%@3@%9%%%%%&@3&@@%1 2x1=2

19.

20.
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Mention any two characteristics of the Soviet Political System.

AT § g3 T g5 o I o Tetll W61 ? I8 6 g el GHTad gal ? 1+1=2

For how many years did the Civil War continue in Tajikistan ? When did it come to
an end ?

g W F FS | ST T WA F 7 % TRe Faarl & 8 6l 1 967 € 2 2x1=2

In the European Union Flag, what does the symbol of ‘twelve gold stars in a circle’
signify ?
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2). AR S G WHI & e 9R el % wiie e ST | 4x1=4

Explain in brief any four components of India’s security strategy.

22. A el WUEr @ = AR ¥ 2 T g % o S e it | 2+2=4

What is meant by ‘Global Commons’ ? Suggest any two steps for the protection of

‘Global Commons’.

23 Sedirg € ofer fAtET e 3 Ret di et o e a3 | 1+3=4

Define Globalisation. Explain any three causes of Globalisation.

.24 TaAfafea § o st 4x1=4

(F) THT M (i) HRE < F

(@ TAHIEE TEH (i) T et

(M) T R (i) T Srafee wet
(@) i dea (iv) Wl e ot
Match the following :

(@) S.A.Dange (i) Bhartiya Jan Sangh

/

(b) Shyam Prasad Mukerjee (ii) Swatantra Party
(c) Minoo Masani ———_ (i) Praja Socialist Party
(d) Ashok Mehta (iv) Communist Party of India

25. AtE o fagelt Hifd & wdl o 3o Fi | 9 69 wEla F gR 3 ReEd ® oW
HCAT e & 7 | 2+2=4
Mention the objectives of Nehru’s Foreign Policy. What was the strategy through

which he wanted to achieve them ?

26. _2& S 1975 I Giftd Sraraeeel & feeel T aftoma e St | 4x1=4

Explain any four consequences of emergency declared on 25 June, 1975.
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When and why did a long phase of coalition politics begin in India ? - =7 fg  o
. . . G S
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28, Tz Frider aneter ¥ Fat o st At v A =

Explain any four objectives of Non-alignment Movement. e
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Note :

-59/172
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‘CREATE CHROS, GRAB /

........

Study the cartoon given above ;:arefully and answer the following questions :

(1) Identify and name the person holding in his hand, the placard ‘Save

Democracy’.

(i) In your opinion, the group of five persons belongs to which political party ?

(iii) According to the group of five, what are the intentions of the person sitting on

‘Dharna’ ?

(iv) Which issues responsible for the downfall of democracy are highlighted in the

cartoon ?

Faer ghedi= qhenfaat & T, uv G 29 F | W
frfafaa ueat & s fafaw

2+2=4

@0 foenfer % sre W, fer sticlert &1 Age T fFe Wi 6 2 @ight 3 @

LCEERE 2RI ARG
@) Ik AT % 62 1 TE IRl H I Hifg

For Blind Candidates only, in lieu of Question No. 29.

Answer the following questions :

(@) Who accepted the students’ request to lead the Bihar Movement ? Which

condition did he lay before giving his consent to lead ?

(b) Mention any two main objectives of his movement.

7
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30. TR UL Ht mmmﬁtmmwﬁvﬁmzom H gze e feE uw
F! B Geleg BT | 4x1=4

List any four steps suggested by the member-states of the U.N. in 2005 in order to

make the United Nations more relevant.

31. 9RAE TSHIS TRew | IRFT O S9! T Hig H W -0 W@ | e el

T R BT o T | 3x2=6
Mw@r?m%ﬁ&mwﬁwmﬁwm
HITT | - 2+2+2=6

Evaluate any three factors that helped the Congress to continue to dominate the

Indian political scenario for almost three decades after independence.

What was Green Revolution ? Mention its any two positive and any two negative

consequences.

\Wm%mﬁﬁ,éﬁuﬁﬁwﬁmmwﬁﬁmmﬁ&
FHEH B AT HIAT | 6x1=6

HYqar

‘1977 % TG & 91, Teell aR 5 A fauelt gl H WHER T 1’ TW 91T & [Fal
SHIROT ST TRIEIVT HHT |

Explain any six factors which led to the popularity of Indira Gandhi’s government in
the early 1970s.

OR

“The 1977 elections for the first time saw the opposition coming to power at the

centre.” Examine any six reasons for this change.

33, 3! vifeRt o T A fohgl <A Tail i S ST | 3x2=6
Frear
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62 % g | RA H A TUeE Forl U ST IRA-A9T TR W I SHehiers
T FIAT | 1976 T IT SL AL B Heist FHE.EI | T 918 9R-4R I &
S T A U Y g3 | 1970 % S % G | T H eI Ao agell | A
i ifd ot o1 JuRer qEl i STe SERRE qE W@ E T e w9 9Ra & W
wgwﬁ%fmﬁamwm&ﬁﬁ@ﬁgﬁqgﬁwg 1981 # wim foamel #t @
F ¥ fer et # sfaen s e A | 241+1+2=6
F T MU SreeRer i EmydE e SHifte g FEtafad Tt & sae fafan

(11962 % Fad 3 UROTEEE, R H HHH T i et T8 2

_ (i "HRa 3R < & Ty i F9 g TR e 2
(iijy”” T %S9 | I Bt A H T URET g3 2

—py” i forare it ot % forg i @ e Ty T 2
Explain any three constraints on the American power.

OR

The conflict of 1962, in which India suffered military reverses, had long-term
implications for India-China relations. Diplomatic relations between the two
countries were downgraded until 1976. Thereafter, relations between the two
countries began to improve slowly. After the change in China’s political leadership
from the mid to late 1970s, China’s policy became more pragmatic and less

ideological. So it was prepared to put off the settlement of contentious issues while
improving relations with India. A series of talks to resolve the border issue were also
initiated in 1981.

Study the paragraph given above carefully and answer the following questions :

(i) Why did India suffer military reverses as a result of the conflict of 1962 ?

" !

33 S s e s i 2t e e e 1
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(1) When did the relation between India and China slowly improve ?
(iii) What was the change in the policy of China in the seventies ?

(iv) Which efforts were made to resolve the border issue between India and China ?

Yt

Hifaga 9g & fages & 6= : aRomml =t =rer i | 6x1=6

What is Cold War ? Why did the Super Powers depend on military alliances with
smaller countries ?

OR
Explain any six consequences of the disintegration of the Soviet Union.

9 | [P.T.O.
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How have popular movements contributed to the expansion of democracy rather than
causing disruption ? '

OR

.
LOK SABHA ELECTION
RESULTS 2004

In the given political outline map.of India, six states have been labelled as @, ,

@, @, @ and @ Keeping in mind, the Lok Sabha Election results of 2004 and
with the help of the information provided below, identify these states. Write their
correct names in your answer book in the following tabular form :

Name of | Alphabet (A to F) | Name of the State
Coalition

(i) Two states where the Left parties won the majority of Lok Sabha seats.
(i1) Two states where the NDA won the majority of Lok Sabha seats.

(iii) Two states where the UPA won the majority of seats in Lok Sabha.
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Note : The following questions are for Blind Candidates only in lieu of Q. No. 35 :
(@) Write the full forms of the coalitions (i) UPA and (ii) NDA

(b) Which coalition came to power in 2004 ? Name its any two major supporting
parties.

(c) What was the consensus amongst most parties on the issue of reservation of

. seats for the backward classes ?
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